SR3HE 1A 1HBAE (HoAD : HRADHR)
RrHT4 HE R | s [ 55 (A) | B | & (B) | HE | & (A+B) HE Dk
JIHI 3T 2, 347 -9 2, 768 11 2,771 1 5, 539 ~10
JHPTHT— T H 980 3 918 2 851 3 1, 769 5
T — T H 557 0 570 -2 562 5 1, 132 3
P =TH 631 -9 718 3 666 -3 1, 384 0
JHPTHTIU T H 461 1 499 -9 518 -1 1,017 -3
P HT H 293 -1 314 -2 313 0 627 -2
PR T H 279 -9 354 -9 356 -1 710 -3
FESEHT 197 -3 206 -5 221 1 427 —4
A 367 -3 457 -9 466 —4 923 -6
T H 1,785 2 1,925 1 1,967 13 3, 892 14
PIPTHT 332 1 346 1 338 0 684 1
T 884 6 951 954 8 1, 905 13
T —TH 267 -2 360 -2 394 -3 754 -5
BT — T H 306 -1 426 -3 422 -2 848 -5
HHT =T H 487 1 693 -2 692 -2 1, 385 —4
FHTIY T H 269 1 404 1 376 -3 780 -2
HrH 232 1 272 257 1 529 3
H] = 283 0 346 ) 335 1 681 -1
=K 442 3 466 2 480 1 946 3
— Y KFNT—TH 0 0 0 0 0 0 0 0
— Y AFNT T H 28 0 42 0 40 0 82 0
G 102 -1 125 0 120 -1 245 -1
— Y KHTH 4 0 4 0 6 0 10 0
KH B 642 3 838 1 842 3 1, 680 4
[E TN 4, 324 -9 4, 848 3 4,994 5 9, 842 8
ER 4, 390 -1 4, 471 -2 4, 502 -9 8,973 ~11
TR 1,303 2 1, 446 3 1, 484 —4 2, 930 -1
B+ 5 0 7 0 7 0 14 0
ELHR—TH 875 1 802 0 968 3 1,770 3
ELR TH 1,061 -1 1, 089 2 1,137 0 2,226 2
ELHR=TH 823 3 793 1 823 2 1,616 3
ELARMNTH 682 3 697 4 708 1 1, 405 5
B LRI TH 683 2 782 0 701 2 1, 483 2
ELHRANTH 0 0 0 0 0 0 0 0
B T 1,753 5 1,818 5 1, 805 7 3, 623 12
Wy —T1TH 279 -2 301 -1 293 -6 594 -7
Wy T B 230 -1 242 -3 237 ) 479 -5
oy E=TH 413 3 429 0 457 3 886 3
o EPUT B 662 -2 691 —4 739 1 1,430 -3
Wy T B 391 -3 457 —4 480 -3 937 -7
IT—T1H 257 0 298 0 342 1 640 1
FEET T H 541 2 569 —4 636 0 1,205 —4
T =T H 192 2 204 1 255 1 459 2
2 31, 039 12 33, 946 ~16 34,515 19 68, 461 3
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